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 Read this news report and write a letter to the editor explaining why 

elephants are in danger.  You may think about: the reasons for danger; 

why elephants need a lot of space; and schemes to save elephants etc 

based on this news report. 

The News of India 

15-12-2012 

Calicut      

Horns of a Dilemma 

Elephants are in trouble in India and may become the next large mammal 

to be threatened with extinction. The problem confronting elephants today is the 



disconnection of their lands.  Cement-lined canals; dam reservoirs, urban 

centers and deforestation combine to pressure the world’s  largest land 

mammals into smaller patches.  No one knows exactly how many elephants are 

alive today, but estimates suggest that more than 300 of these gentle giants have 

been poached for the value of their ivory in the past few years. 
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Answer Key:- 

Part – A 

Letter writing (formal)        

Grading indicators:-           Total Score (10 marks) 

 Format     :   1 

 salutation and conclusion   :   2 

 Appropriate language   :   2 

 Relevance of content   :   3 



 Linkers and discourse Marckeres :   2 
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 Read the passage given below and answer the following questions:- 

Animals communicate with one another in many interesting ways.  These 

May consist  of signs, gestures looks, around, smells or even light produced by 

the body.  song and dance are two other means other means of communication. 

 When faced with dangers, animals  warn other’s using signals such as 

mock charges, grimaces or sound. they also call their friends or inform other 

members of the group about the sources of food and ‘teach’ the young the ways 

of the world. 

 Fishes, molluses, sea lions, walrnses, whales and dolphins chatter  away 

in the water using a variety of sounds – whistles, squeaks, clicks and groans 

which range from low-pitch to ultra sonic sounds that are beyond the range of 



human hearing. Whales and dolphins are sometimes called the “musicians of 

the sea”, as birds are of the sky. 

1. Animals do not communicate with one another though: 

A) Heat   

B) Gestures   

C) Looks   

D) Smells 

2. One of the following statement is Not true. 

A) Some animals communicate even through light produced by the body. 

B) Dance is one of the means of communication for the animals. 

C) Animals communicate through speech. 

D) Song is also a way of communication by  the animals. 

3. Ultra sounds are produced by___________ 

A) Whales  

B) Monkey   

C) Walruses   

D) Peacocks. 

4. ________are called as the musicians of the sky. 

A) Dolphins  

B) Whales   

C) Walruses   

D) Birds. 

5. Which among the following is not a way of communication for fishes. 

A) Groan  

B) Cry   

C) Whistle  

D) Click 

 

6. Animals in danger warn others not  through: 



A) Grimaces  

B) Mock charges   

C) dialogues   

D) Sounds 
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1. A   13-B   25-B   

2. C   14-B   26-D 

3. A   15-B   27-A 

4. D   16-C   28-C 

5. B   17-B   29-D 

6. C   18-C   30-B 

7. D   19-C 

8-A   20-C 

9-B   21-C 

10-B   22-B 

11-C   23-B 

12-D   24-B 
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Your school is going to conduct a meeting to congratulate Rahul of standard 

VII, who won the gold medal and created a meet record in the recent State 

School Athletic Meet. Olympian Irfan will be presiding over the meeting.  

Being the School leader you are asked to make the welcome speech.  Prepare 

the welcome speech for the programme. 
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Speech – Grading Indicators       Score  : 10  

 

 Salutation       : 2 

 Introduction      : 2 

 Appropriateness  of  Langauge  

stylistic use of language    : 2 

 Content of speech     : 2 

 Conclusion      : 2  
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 Read the following passage and answer the following questions:- 

Not only is diabetes a leading killer, the type 2 form of the disease is now a 

deadly epidemic in India. Diabetes affects and estimated 25 to 40 million 

Indians, according to different estimates and at this rate the number of 

patients could double by 2030.  With more diabetics than any other country – 

every fourth patient today is an Indian – India is often called the diabetes 

capital of the world. 

 Some reasons for this epidemic: experts say that many Indians are 

generally predisposed to the disease. Others attribute it to a rising incidence of 

obesity, high-fat, high-calorie diets, sedementary life styles, lack of exercise and 

even stress. 

1. Which among the following is mentioned as an epidemic in the passate? 

A) Dengue   

B) Diphtheria  

C) Aiabetes   

D) Diarrhea 

2. Most appropriate title for the passage is : 

A) Diabetes 

B) India – world diabetes Capital 

C) Causes of diabetes 

D) Epidemic in Inda. 



3. Pick out the statement which is not true. 

A) 25 to 40 million Indians are affected with diabetes. 

B) The diabetes patients in India could be doubled by 2030. 

C) Every fourth diabetes patient is from India. 

D) Diabetes is not a deadly epidemic. 

4. One of the following is not the cause of diabetes mentioned in the 

passage. 

A) High-fact, high calorie diets. 

B) Obesity and stress. 

C) Over exercise 

D) Genetic disposition 

5. What will be the estimated expectant number of diabeties patient by 20-30? 

A) 50 to 80 million  

B) 25 to 40 million 

C) 80 to 100 million 

D) 30 to 60 million  

6. Major cause of diabetes among Indians is : 

A) Life style    

B) Lack of exercise  

C) High fat diet 

D) Hereditary     
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23 2016 
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D)  D.U.S.A
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A                     B     C              D

A                     B     C              D 

 A.   122   

B.   111   

C.   144   

D.  110 

A.   25   

B.   81   

C.  16   

D.  64 

 

39. HEN = 27,  THE = 33  

 THEN = ? 

A.   47   

B.   46   

C.   60   

D.  67 
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11= 2,  22= 4, 52= 10 

155= ? 

A.   20   

B.   10   

C.  75   

D. 15 
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1-D  11-B  21-A  31-A  41-A 

2-C  12-D  22-D  32-B  42-B 

3-A  13-C  23-A  33-D  43-D 

4-D  14-B  24-B  34-A  44-B 

5-B  15-A  25-D  35-D  45-C 

6-D  16-C  26-C  36-A  46-B 

7-C  17-A  27-D  37-D  47-A 

8-D  18-B  28-B  38-A  48-B 

9-A  19-D  29-B  39-A  49-C 

10-A  20C  30-C  40-C  50-D 
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A.  2.37 

B. 0.237 

C. 0.0237 

D.  0.00237 

 

38  100000000 

A.  6 

B. 4 

C. 3 

D.  5 

 

39.  AZ, BY, CX, ?, EV 

A.  FR 

B. GS 

C. DW 

D.  HT 

40.  

 

A.  956079 

B. 956085 

C. 956070 

D.  956075 
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A.  9 

B. 12 

C. 15 

D.  18 

A.  26 

B. 46 

C. 37 

D.  56 
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A.  564 

B. 578 

C. 654 

D.  645 
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A.  2 

B. 3 

C. 4 

D.  5 

45. 5 

A.  176 

B. 716 

C. 671 

D.  761 

46. 

A.  68 

B. 72 

C. 86 

D.  94 

MENTAL ABILITY 
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5 23
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37 54 

28 



 

1,  4,  9,  16,  ?  ,   36

A   25      

B   20       

C   30      

D  18      

48 0,  3,  8,   ?,   24,   35 

 A   15 

B   9       

C   25       

D 12      

49 2,  9,  28,  ?,   126 

 A   40      

B   30      

C   65       

D  125      

50 AT = 21,  BAT = 23,  CAT = 24  SAT = ?  

 A   44      

B   47      

C   45      

D  40      

51 FATHER = 58,  MOTHER = 79,      DAUGHTER = 84  SON= ? 

 A   137      

B   48       

C   142       

D  163      

52 9+9 =9, 22+22 = 22,  36+44 = 40  15+25 = ? 



 A   255      

B   64     

C  20       

D  1525   

    

53 11+ 72 =15, 22+66 =40, 81+81 =16  35+52 = ? 

 A   25     

B   4       

C   22      

D  15   

    

54 16 - 48 = 8641,  32 - 67 = 7263, 11- 11   = 1111 32 -14 = ? 

 A   3421    

B   4321       

C   4213       

D  4231  
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 A   13     

B   14     

C   16       

D  15  

     

56 GIVE = 5137, BAT =924   GATE=   

 A  5247    

B  2475       

C  5472      

D 5742        
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1-A  25-C  49-C  73-B 

2-C  26-A  50-D  74-A 

3-B  27-B  51-B  75-C 

4-D  28-B  52-C  76-A 

5-B  29-A  53-A  77-D 

6-B  30-C  54-C  78-B 

7-C  31-B  55-B  79-D 

8-D  32-C  56-A  80-D 

9-A  33-D  57-C  81-B 

10-D  34-B  58-B   

11-B  35-B  59-C 

12-B  36-C  60-D 

13-C  37-C  61-D 

14-D  38-D  62-B 

15-C  39-C  63-B 

16-B  40-A  64-C 

17-D  41-C  65-A 

18-A  42-B  66-C 

19-D  43-C  67-C 

20-C  44-B  68-D 

21-B  45-A  69-D 

22-C  46-D  70-A 

23-A  47-A  71-A 

24-A  48-A  72-A 


